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Makros für die Domain MH
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%AECRIT/BY: CRF
AETERM

AEDECOD

AEBODSYS

AEHLGT

AEHLT

AELLT

AESER



%AECRIT 

%AECRIT(
TABNUM = 65.1);

%AECRIT(
TABNUM = 65.1,
T2      = , 
T3      = , 
T4      = , 
T5      = , 
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = , 
SASCODE = ,  
PAGEBY  = ,
POP     = safety, 
COLVAR  = dm.armcd, 
TOTAL   = N, 
NAE     = N,
T1      = Criteria for serious adverse events);

äquivalent:

%AECRITBY 

%AECRITBY(
TABNUM = 66.1,
COLBY = dm.race);

%AECRITBY(
TABNUM = 66.1,
COLBY = dm.race,
SASCODE = ,  
PAGEBY  = , 
T1      = %STR(Stratified criteria for serious adverse events), 
T2      = , 
T3      = , 
T4      = , 
T5      = , 
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = ,
COLVAR  = dm.armcd, 
TOTAL   = N, 
TOTALBY = N, 
NAE     = N, 
POP     = safety);

äquivalent:



AERELYN

%AEREL: CRF AETERM

AEDECOD

AEBODSYS

AEHLGT

AEHLT

AELLT

AEREL

%AEREL 

%AEREL(
TABNUM = 63.1);

%AEREL(
TABNUM = 63.1,
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = ,
PAGEBY  = ,
POP     = safety,
SASCODE = ,  
T1      = %STR(Summary of related adverse events),
T2      = , 
T3      = , 
T4      = , 
T5      = , 
COLVAR  = dm.armcd, 
AGGVAR  =  SOC PT, 
NAE     = N,
TOTAL   = N);

äquivalent:



AESEV

%AEINTx: CRF AETERM

AEDECOD

AEBODSYS

AEHLGT

AEHLT

AELLT

%AEINTA 

%AEINTA(
TABNUM = 62.1);

%AEINTA(
TABNUM = 62.1,
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = , 
PAGEBY  = , 
POP     = safety, 
SASCODE = ,  
T1      = %STR(Summary of adverse events by intensity %(all occurences%)),
T2      = , 
T3      = , 
T4      = , 
T5      = , 
COLVAR  = dm.armcd, 
AGGVAR  = SOC PT,  
PERC    = 0, 
TOTAL   = N);

äquivalent:



%AEINTW 

%AEINTW(
TABNUM = 61.1);

%AEINTW(
TABNUM = 61.1,
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = ,
PAGEBY  = ,
POP     = safety,
SASCODE = ,  
T1      = %STR(Summary of adverse events by intensity %(most severe occurrence%)),
T2      = , 
T3      = , 
T4      = , 
T5      = , 
COLVAR  = dm.armcd, 
AGGVAR  = SOC PT, 
PERC    = 0,
TOTAL   = N);

äquivalent:

AESER

AESEQ

AEOUT

AESEV

AEREL

AEACN

AEACNOTH

AEELTM

EXENDTC

EXSTDTC

CO.RDOMAIN

COSEQ

TESTCD{WEIGHT}

VSSTRESN

VSBLFL

DM.SEX

DM.AGE

VSORRES

VSSTRESC

DM.RFSTDTC

DM.RFENDTC

%LAE/SOC: CRF AETERM

AEDECOD

AEBODSYS

AESTDTC AEENDTC

AEENRF

AESTDY AEENDY

AEDUR



%LAE 

%LAE(
TABNUM = 12.1);

%LAE(
TABNUM = 12.1,
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = , 
PAGEBY  = dm.armcd, 
POP     = safety, 
SASCODE = , 
T1      = %STR(Adverse events by trial treatment and subject number),
T2      = , 
T3      = , 
T4      = , 
T5      = , 
TERM    = PT, 
DURUN   = D);

äquivalent:

%LAE 

%LAE(
TABNUM = 12.2,
T1      = %NRBQUOTE(Listing of adverse events),
TERM    = PT,
DURUN   = DHM);



%LAESOC 

%LAESOC(
TABNUM = 13.1);

%LAESOC(
TABNUM = 13.1,
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = , 
PAGEBY  = dm.armcd, 
POP     = safety, 
SASCODE = ,         
T1      = %STR(Adverse events by trial treatment, System Organ Class, Preferred Term 

and subject number),
T2      = , 
T3      = , 
T4      = , 
T5      = , 
TERM    = N, 
DURUN   = D);

äquivalent:

MHTERM

MHDECOD

MHBODSYS

MHHLGT

MHHLT

MHLLT

%MH: CRF



%MH 

%MH(
TABNUM = 11.1);

%MH(
TABNUM = 11.1,
T1      = %STR(Summary of medical history),
T2      = , 
T3      = , 
T4      = , 
T5      = , 
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = ,
POP     = safety, 
COLVAR  = dm.armcd, 
AGGVAR  = , 
TOTAL   = N,
PAGEBY  = ,
SASCODE = ,  
NMH     = N);

1. AGGVAR=SOC PT

2. AGGVAR=SOC RT

3. AGGVAR=PT

4. AGGVAR=RT

5. AGGVAR=SOC

äquivalent:

MHOCCUR

MHTERM

%MHYN: CRF

janein



%MHYN 

%MHYN(
TABNUM = 12.1);

%MHYN(
TABNUM = 12.1,
T1      = %STR(Summary of medical history),
T2      = , 
T3      = , 
T4      = , 
T5      = , 
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = ,
POP     = safety, 
COLVAR  = dm.armcd, 
TOTAL   = N,
PAGEBY  = ,
SASCODE = ,  
AGGVAR  = );

1. AGGVAR=SOC PT

2. AGGVAR=SOC RT

3. AGGVAR=PT

4. AGGVAR=RT

5. AGGVAR=SOC

äquivalent:



MHENRF

MHSTDTC

MHENDTC

MHSTRF

MHSTDY

MHENDY

%LMH: CRF

MHTERM

MHDECOD

MHBODSYS

MHHLGT

MHHLT

MHLLT

MHOCCUR MHSTAT

bei Tickboxen

DSSCAT

%LMH 

%LMH(
TABNUM = 3.1);

%LMH(
TABNUM = 3.1,
T2      = , 
T3      = , 
T4      = , 
T5      = , 
F1      = , 
F2      = , 
F3      = , 
F4      = , 
F5      = , 
SASCODE = , 
T1      = %STR(Medical history by trial treatment and subject number), 
POP     = safety, 
AGGVAR  = , 
PAGEBY  = dm.armcd); 1. AGGVAR=SOC PT

2. AGGVAR=SOC RT

3. AGGVAR=PT

4. AGGVAR=RT

5. AGGVAR=SOC

äquivalent:



%LMH 

%LMH(
TABNUM = 3.2,
T1      = %NRBQUOTE(Listing of medical history),
T2      = %NRBQUOTE(Females only),
AGGVAR  = RT SOC,
SASCODE = %STR(WHERE SEX= 'F';));



%AEREL(tabnum=Block4_1a,
aggvar=SOC);

%AEREL(tabnum=Block4_1b,
pop=ITT,
aggvar=SOC);

%AEREL(tabnum=Block4_1c,
pop=ITT,
aggvar=SOC,
pageby=dm.sex);

Aufgabe 1

%AEINTW(tabnum=Block4_2,
aggvar=SOC);

%LAESOC(tabnum=Block4_3,
T2=Nur Männer, 
durun=DHM,
sascode=%STR(IF sex='M';));

%MH(tabnum=Block4_4,
pageby=dm.race);

Aufgabe 2, 3, 4


